TRIEE EXRHE-NMXFPHERVERHE - ICUREERER] Gl#E1—1)

E E WS
= EiEB INXFE EiEH INRE
2 FEXLHN X 2 | Suwl Dompe]| XI&E SHER |SbHEE
HA R YEZ | ©NREE | FHEE HARE XRE | REEHE
BT 128 28~30H 80,000 80,000 80,000
2 [BEsENiE 1A 120,000/ 120,000  120,000|
3 |EERBILAASHEERE  [1A~38 3,600 3,600 3,600
4 |EREEAILATHE S 4H~38 43,200 0 0l[F 1t
5 |FRERSFYRSLT(7ES [4A~38 10,000 10,000 10,000||
INET 256,800] 213,600/ 213,600 0 0 0
FECKEY L N
L PSeoriaiy 4B ~38 40,000 40,000 40,000"
2 |[VIrR—LikERS 4A~38 120,000/ 120,000 90,000
3 |REFYT 10813, 148 181,000  159,000] 146,000,
4
5
INET 341,000/  319.000] 276,000 0 0 0
1 |[BHERES—ER 48 ~3A 805,000] 805,000  589,000]
2 |PrEHEASMLOVIRRLIT 1 g10R 199,100 155,700  124,000(
3 |FLso7HOy 4B~38 55,000 55,000 55,000
4
5
INET 1,059,100/ 1.015.700] 768,000 0 0 0
1
2
3
4
5
INEE 0 0 0 0 0 0
1 [fEn&ES 4B~38 87,000 87,000 87,000
2
3
4
5
/NEE 87,000 87,000 87,000 0 0 0
1 [HERBEZRAR—VEE  |[*%E 70,000 60,000 60,000
2
3
4
5
INET 70,000 60,000 60,000 0 0 0
1 |BEE AN B 58208 510,000] 410,000 45,000(|
2 Mt OEKRE 12A28 320,000]  320,000( 220,000
3 |EERTAEAILIR—3y |12B~1H 622,600 582,600 45,000
4
5
INET 1,452.600| 1.312.600] 310,000 0 0 0
1
2
3
4
5 -
VBT 0 0 0 0 0 0
o = 3,266,500| 3,007,900( 1,714,600 0 0 0
3 ANE ’ ’ , ’ , ’
EREHMEOEE (A) B) © )
FEEHBEDEIE [(B)/(A)] 57.00% FEEEMHBEDEIS[(D).~(C)]]| #DIV/0!
BB EE [48~38 100,695| 100,695 100,695[4 8 ~34
w a8 & 3,367,195| 3,108,595| 1,815,295 0 0 0




 PRI0EE BEHE-RIXTHERUELEE uiﬁ%igaﬁﬂuxéﬁﬁ#ﬁw»(ﬂufﬂ&z)
2 I 2 %517 SEEs [
St ERHE
BE L2 T ESE T g BT SE
=HE | EREm [ FRo0GiA O~TR3E3A3H| ERhm
XEHm | =me 5 A1 E LR = B
RERLNELIND-DI-. RHETORE
BHOVT<YRE QIS DR L [- R T
BELEY |5, dhik
Bl FIE BB i
ST |SEROMDLT E RIS
B R 75
EERE OO
NE | oEBBEIITOBS /I nE
S5 B 1 E 3% HhLs (33 x 4HTR)
—RES N Ak 0 A —RES Ak
FHAVA— [T OBEE BTRBERE) | A/ —
XA R |Tae ERE | BE(RE) | ZEu05 ) e ERE)| EB(GH)
SEHREEEHR(N) 0 Y TErreEHEB(N)
=S | EiEE SR (E) 0 12|/ 1 B %% (E)
ERGEEEL(N) 0 48| EAREEEZ(N)
SE 95 hneERE (BERE) 0 0.5|| 95 mnekns (BRs)
FEA S INEERE (BRE)D 0 2 4|| FE A S hneRs (BERS)
S (BRD 24 B S3 (BED B
o B # o2 ot
RO FIVEAT EHOS & FIoUBH
R®RO | (ELIZ0M) L = (%4 2O HhAZ— B
7J_I£ -/ “JI‘ 4/'37 *‘JI‘
ZOH( ) Z O ( )
s |MTRABELTL S OBA e
BRONE |55 5a pas S mys, ooy | BBRONE
[ | DXy Ee (BhH) N R e = ()
® LA
=% SERHE =% SERTS
B B yum I s = REEE g "=
BHZIA 0 0
FHHEUA 43,200 0 |&4lTE
g &t 43200 0
* 2 373 S5 @B Y7 55 1 B
2 2D
B B yum HgE | (‘ﬁmﬁ REEE Wi " =
L = (4BT£) x 300
jll:?al]k% 43,200 0 A x3&E x12A8
& &t 43,200 0
SERHZ 0 SERHS
o mxz@E[ o] [ o]




